5+ =3 =3 rewrite (isolote '3')
<) Tx—2y=20

®

@ 3x+y y=
-3x

€ 7x-{(-13x\+'3) = 20

Ix+bx —-b =
—

3

-3¢ “3x+3

+b

32 @D

y: "3(2«)4'3
= =b+d

Eliminate frachons
first. Muihply each
equathon by a LCD.
GZ(" +ys )—> X+2y=5

@‘5(.:'3.;:--.‘3-5: -.é)—) Xx-y= -1

© isolate “x" (could have used ® )

xt2y =5 Xs= -15 +5
Yy Y
@ -2y+5 -y =
-5 5
-3y = -b
Practice: p.425 #4, 5,19 "3
Mrs. Donnelly
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5(‘x+ r=1) B 3w +uy =

X = -2(2) +5 @

©._ , 1-0 - rewrite (isolate "y")
d) 4x=3y—4

0 bx-y-l =
+ ty

® ‘I-x-@)"}

4x =
-8 x

-l4x = =7

bx-1=y

18x -3 -4

=18y | WE— |
-1 =i

&
y= ©(3)-!
- &5

-b

I'L(

3) - l2y = -2
No variable has a coeff.
of 1 bt +he X" ‘s makh
(both are 3x).
solve @ for 3% .
3+ '-l-lj ==b
~uy -~ uy
3% = —4y-b
® 12y =-4y-b - 20
+uy +43‘————'

loy = =2
b b
&PC 10

Ix = -4 '-?)—‘0
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